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I Discussion of requirement of 1 jn’v for birds
a 77 can be either esophagus or trachea — states TNR” — meaning, any one
b 7727%8 92 X78% "7 must be esophagus — states “TnR” — meaning “the singular one”, i.e. esophagus
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Challenge (to 377): 7:1 PN Rnavin discusses cutting the VWM before/after/unsure the N1 was moved

1 Inotherwords: the only context of no’nw mentioned is the esophagus

2 Defense: the n7 is the only one that can move

Challenge: ruling in which nT "1 mentions that he must cut the Vw1 and the veins (doesn’t mention nip)

1 Defense: the veins are near the esophagus, so his mention was of convenience, not necessity

Challenge: rule of “delay” (n»nw) which uses n» as example, if he was half through, delayed and finished— s
1 Assumption: context is bird, and “finished” means he completed cutting the n1113 = must cut esophagus
2 Rejection: context is NN, meaning is completing both win*o

Challenge (to 8”2x7): if he found Y the trachea deficient and finished it off — 1w3

1 Assumption: context is fowl = trachea is also a valid jn’o

2 Rejection: context is nnna and “finishing” refers to completing both n»no

Challenge: description of npon allows for (re: 91pn nron) either cutting mp or VYN — refutation of R”axry

¢ Question: what is final disposition? (already given — follow 1)
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Defense of question: perhaps in case of np’>n, where spinal cord is broken, we allow for either jn*0

Answer: case law, X211 was brought a duck that was bleeding from its neck and they didn’t know if it was a na»v
1  Solution: vwn can’t be checked from outside = check mp from outside, cut it (3"13) and then check vwn for ap
2 Note: solution was suggested by ®17’s son, qov; X117 praised him as being as wise about ma»v as jny "

I Analysis of N1’ ’7’s opinion that the veins must also be cut
a  ~7on 1 only applies to fowl, since they are roasted whole
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Implication: " ’Y’s ruling is intended to ensure that blood is drained, not essential to nvonw itself
Challenge: wording of mwn is VINYWY Ty, not “he must puncture the veins”

1 Answer: understand it as “he must puncture during act of nvnw”

Challenge: nmv "1 is quoted as saying "no'nwa prm”

1 Answer: he means that they must be punctured during nomnw

Challenge: 13127's response to ™ is that the purpose is to drain blood — why would it matter when

1 Implication: »'s reason is that it is part of nomnw

2 Correction: ™ agrees that it is to drain blood; during no’nw, blood is hot and will pulse out; afterwards, it cools
Question (707 77): according to 7, if he delayed or put pressure on P11 — invalid?

1 Answer: from 1301 "1 —-may use a thorn to puncture them (i.e. not part of nv'nw; N»nw1 N*17 don’t apply)
Support: nmi 1 (in ®n»11) specifically mentions 111 in context of slaughtering fowl

III  Analysis of 231 and its impact on pano
a  27.50% is valid —'n’s instructions to nwn were that a majority should not remain uncut
b a7 77 50% is still invalid - "n’s instructions to nwn were that a majority must be cut
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Challenge (to 27): our mwn invalidates %2 for 9 and 1.5 for nnna — but if 50% is valid, should be sufficient
1 Defense: that invalidity is 0™, as a precaution against cutting less than half
Challenge (8207 27): if a ®nv 1N, which must be “broken” to be 111, is split in half, both halves are still n»xnv
1 Reason: impossible to cut exactly at 50% (Dx¥nxH R"R)
(a) Implying: if it were possible to divide exactly - they’d be mnnv - but, to 29, each is a 2171 (50%)
(b) Defense (x99 77): cannot have 2 "a17”s in one component
Challenge: if he cut %2 n737 and delayed and then finished — valid
1 But if: (assuming context is nnna) 50% is valid, he made this a na»v
2 Defense: context is 91p; either way it is valid; either 50% is 217 and it is VINWY, or it isn’t and it’s not a Na»v
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iv  Challenge: if he found %2 mp damaged and then cut any amount — valid
1 Butif: 50% is a1, it is a na»Mv
2 Defense (837): re ma»v, we require a visible 211
(a) Challenge (»an): if we require visible 21 for nav, that can happen with a small amount, v"p we require a
visible 211 for nv'nw, which generally requires jn°0 117
(b) Rather (»2x): all agree that for 1’0 217, we require 51%
(c) Dispute 81775 71727 was in a wholly different context — for defining 71ax for nw noa:
(i) If: exactly 50% of Y87 Y were D’RnvY on jo7 T
1. 37: each “half” is a a1
a.  Therefore: the D 1nY perform Noa on their own, NNV
b. And: oxnv perform noa on their own, "rMv1 (in 1%t month)
i.  Source: v.1 - only individuals are “pushed off” to »w noy, not MNax
2. X272 “1. each “half” is not a a1
a.  Therefore: the m&nv, adjudged to be 1M, are delayed until 2w noa
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